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- Are growth curvature responses
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- Are locomotory response;
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- Hormonally controlled / controlled by
AUIXINS
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- Not hormonally controlled;
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- Involves only parts ot plants;
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- Involves whole cells or organisms;




image72.png
- Occurs only 1n plants;
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- Occurs 1n plants, animals and
protoctists;
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image76.png
Why are people with blood groups AB referred to as universal recipients?
they do not have blood antibodies to react with donor’s sntigens;
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Name the antibodies in blood group O.
a and b;
Reject A and B.
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The diagram below shows a structure 1n flowering plants.
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State the fate of each of the parts labeled G and H after double fertilization.

(2 marks)
G:
embryo;
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Enzyme B.
Duodenum/small intestine;
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State the fate of each of the parts labeled G and H after double fertilization.

(2 marks)
G:
embryo;
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H:
degenerates;
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Name a plant hormone may limit gaseous exchange. Explain.
abscisic acid;
since it inhibits stomatal opening;
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Account for the rise in mass of a bean embryo during the first few days of
germination. (3 marks)
respiration of food from cotyledon in the embryo cells produces energy;

hydrolysis of the stored provides nutrients;

for synthesis of new tissues that ensures growth;
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The table below shows the red blood cells count for a person living at a sea level
and the same person after acclimatisation as high altitude in preparation for
climbing Mt. Kenya.
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Red blood cells count
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The table below shows the red blood cells count for a person living at a sea level
and the same person after acclimatisation as high altitude in preparation for
climbing Mt. Kenya.
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Red blood cells count
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At sea level
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After acclimatisation at high
altitude
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Explain the advantage of having red blood cells count at high altitude.(2marks)
Increases the red blood cells count allows an increase in oxygen uptake; to compensate
for the reduced atmospheric oxygen concentration at higher altitudes;
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What is meant by divergent evolution? (1mark)
when structures of the same embryonic origin/homologous structures evolve to perform
different functions; Accept examples.
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State two limitations of fossils as an evidence of evolution.
missing links;

distortion of parts during sedimentation;

destruction of fossils by geological activities; eg faulting.
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The diagram below represents the human elbow joint.
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The diagram below represents the human elbow joint.
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Name the parts labelled H and L.
H:
licaments;
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(2marks)
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L:
humerus
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male 1s said to be heterogametic.
produces two different types of gametes
with Y — chromosome
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Name the type of joint.
movable/synovial /ball and socket;
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State the role of the fluid in part K.
lubricant/reduces friction/shock absorber;
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he process P.
ammonification /decomposition;
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he compound N.
ammonia/ammonium;
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with
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The organism involved in process S.
Pseudomonas denitrificans/ Thiobacillus denitrificans;
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Give three characteristics of a population that distinguish it from any other
population. (3marks)
Density;

Natality;

Motality

Age structure;

Growth rate;

Dispersal and dispersion; any 3
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Explain why a piece of raw peeled potato immersed in honey becomes soft after a
few hours. (2marks)
the potato tissue is hypotonic to the honey; the potato cells lose water to the honey by
osmosis; making flaccid and soft;
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the last two phases of meiosis.
anaphase II;
telophase 1I;
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(2marks)
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Distinguish between genotype and phenotype. (2marks)
genotype refers to the genetic constitution of an organism with respect to a particular
trait;
phenotype refers to the physical appearance of an organism with respect to a particular
trait;
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The diagram below represents the nitrogen cycle.
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The test for HIV involves testing for anti-HIV antibodies in human blood plasma.
Why test for presence of antibodies and not the virus? (2marks)
HIV is extremely small/survives within cells not plasma; thus cannot be seen by light
microscope; / Anti-HIV antibodies are proteins in plasma; and thus easily detected
through chemical reactions;
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State two structural differences between a sensory and relay neurones.(2marks)
sensory neurone has myelin sheath while relay neurone is non-myelinated;

sensory neurone has long axon while relay neurone has a short axon;

sensory neurone is bipolar while relay neurone is bipolar or multipolar;
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Explain the following observations.

Plants that grow in fields flooded with water eg rice have root cells highly tolerant
to ethanol. (2marks)

in the absence of oxygen root cells respire anaerobically producing ethanol; tolerance to
the toxic ethanol enables them to survive in the water logged soils;
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When a person remains in a cold environment for more than 20 minutes, there is
increased urine production. (3marks)

due vasoconstriction; blood is diverted away from the skin thus less sweating; more
water is retained in the body thus less water reabsorbed from the kidney;
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In an experiment, plant and animal tissues were placed in different solutions K
and L for 30 minutes, and then observed under a light microscope. The cells
appeared as shown below.
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If cell M had been placed in solution L, identify the cells that were placed in
solution K. (1mark)
N and Q:
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What name is used to describe the cell Q?
crenated;
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Suggest what would have happened if the tissue irom which cell P as obtained,
continued being in the solution it was placed in. (1mark)
the cells would be haemolysed/swell up and burst;
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List three industrial applications of bacterial anaerobic respiration. (3marks)
Yoghurt production;

Cheese production;

Silage production;
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What are the roles of light in photosynthesis.
Photolysis;
ATP formation;
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Protein is digested in the stomach by the enzyme pepsin. State three factors that
affect the rate of pepsin activity in the stomach. (3marks)
temperature;

pH;

surface area of the protein;

concentration of pepsin;

Below is a diagram of a human tooth.
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Identify the tooth.
Molar tooth;
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What is the function of the part labelled P?
provide raised surfaces; for grinding of food;
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N
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Name two respiratory diseases caused by air pollution.
Emphysema;

Bronchitis;

Lung cancer;
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Explain the importance of the following procedures when preparing temporary
slides for microscopy.

Cutting thin sections of the specimen. (1mark)
Allow light rays to pass through for magnification;
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Cutting specimens using a sharp razor.
To avoid distortion of the specimen during cutting;
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State three ways, other than shape in which rod cells differ from cone cells of the
eye. (3marks)
rods more light sensitive, cones less light sensitive;

rods have rhodopsin photopigment, cones have iodopsin photopigment;

rods have convergence, cones do not have convergence;
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Name the substance that is made when insulin stimulates the liver to lower the
blood glucose level. (1mark)
glycogen;
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Explain what would happen to red blood cells if plasma glucose concentration
becomes very high because insulin secretion failed. (2marks)
they lose water to the plasma; by osmosis; leading to crenation;
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Explain an increase in the atmospheric humidity slows down
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transpiration.
(2marks)
There is a higher concentration of water molecules in the atmosphere;
Lowering the diffusion gradient/deficit; and evaporation rate;




image218.png
1 mark)




image219.png
(Printed and Distributed by Horizon Instants limited. P.O. Box 7138




image220.png
- 00200 Nairobi Tel: 0722472451




image221.jpeg




image222.png




image223.png




image224.png
1 mark)




image225.png
Explain an increase in the atmospheric humidity slows down
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transpiration.
(2marks)
There is a higher concentration of water molecules in the atmosphere;
Lowering the diffusion gradient/deficit; and evaporation rate;
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Name the hormones that would be released in large quantities into a cheetah,s
blood to prepare it for a chase after an antelope. (1mark)
adrenaline;
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Name the region of the alimentary canal in which each of the enzymes A and B
will be most active.

Enzyme A (1mark)
Stomach:




image30.png
1mark)
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Explain why the human :
female is said to be homogametic.
produces same type of gametes that all have one X chromosome;
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(1mark)
— chromosome and the other
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State two ways in which the hormone released in a) above helps to provide extra
energy for the cheetah to run very fast. (2marks)
causes release of glucose/blood sugar; from storage/glycogen/liver/muscles; which is
broken down to release energy;




image34.png




image35.png




image36.jpeg
Rate of protein
digestion
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Name the region of the alimentary canal in which each of the enzymes A and B
will be most active.

Enzyme A (1mark)
Stomach:
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Explain why the human :
female is said to be homogametic.
produces same type of gametes that all have one X chromosome;
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(1mark)
— chromosome and the other
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Rate of protein
digestion

EnzymeA

EnzymeB

10

12
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The graph below shows the rate of digestion of protein by two different enzymes
A and B found in the human alimentary canal, over a range of pH.
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State three diifferences between tropisms and taxes.
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State one cause of chromosomal mutation.
radioactive radiations;

chemicals like mustard gas, colchicine etc;
extremely high temperatures;
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Give one example of a genetically inherited disorder due to gene mutations.
(1mark)
albinism/sickle cell anaemia/colour blindness/haemophilia;
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Tropisms




